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Attempt All questions.
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(i1) The concept of Division of Labour is given by ....................

(A) Lewis (B) Malthus

(C) Karl Marx (D) Adam Smith
o FIUTTOR @ SeeTAr T "R

(A) e (B)  Heu™

(C) It A (D)  3fen Ty

(zizr)  Which book was written by Ricardo in 1817 ?
(A) The Principle of Political Economy and Taxation
(B) Das Capital
(C)  Principle of Economy
(D) Wealth of Nations
1817 A= e wivrar 7y fafgen ?
(A) TSR sreferaed= do S HIdA

(B) TH wHdled
(C) A= Hetded
(D) UsE HOd
(tv) ~ The concept of Economic Planning in India is derived from ...............
country.
(A)  Russia (B) USA
(C) UK (D)  Australia
IRAM STk RSl Fehauer oo QIMHSA B
(A) (B) J.TA.U.
(C) g (D)  sArfern
(v) Difference between income and consumption is called .................
(A)  Investment (B) Consumption
(C)  Saving (D) Cost
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ST ST SO BIERTE TZUT
(A) AU (B) SN
(C) d=d D) @=
.................. factor is non-renewable.
(A) Wind energy (B)  Natural gas
(C) Forest (D) Fish
.................. TeF ST AT
(A) g el (B) Hfiter fa
(C) = (D) wE

According to whose views National Income of a country increases in

long period ?

(A)  Occken (B)  Benjamin

(C)  Richardson (D)  Baldvin

T T S AR S fGHeTe ded e ?

(A) 3Tk (B) St

(C) fgw (D) e

The formula of maladjustment [M = %} is given by ...............
(A)  Dalton (B) Plato

(C)  Cannon (D) Malthus

e [M X %} TSTOARISY e A ¥ T HEd
(A)  sleed B) wE

(C) A (D) weTH
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(ix) An essay on 'Principle of Political Economy' was written in the

year................

(A) 1776 (B) 1876

(C) 1820 (D) 1980

‘TTenTE refeTed= Hetde| ®1 UY v oo fadten ?

(A) 1776 (B) 1876

(C) 1820 (D) 1980
(x) Which is second stage of economic development given by Rostow ?

(A) Take-off

(B)  The drive of maturity

(C) The traditional society

(D)  Precondition of take off

A== A7d omfefe foema ufradial gadl ofersen
(A) SSSTumEEDn

N

(B) URUsaEEdshe aedad

(C)  YRUIRE Tewen
(D) ISSYE T

Theory
Explain the meaning and measurement of economic development. 10
ek forepram=n 19 & AOATN WIEA G
Or
(feram)
Discuss Keynes’ theory of Economic Development.

S oY faemaren fagmart ==t +3.

Explain the Adam Smith's model of Economic Development. 10
sfen fmg=n anfde foem wEu = &
Or
(fenam)

Critically examine optimum population model of economic development.

T C’1I°h'{~i(9<4| qeqre feshreHes afieror .

86FESFDE3068E36A4773C9158AFE25FB



WT ( 5 ) B—334—2017
4, Write short notes on (any two) :

(@) Types of planning

(i1) Malthus model of economic development

(z11)  Natural resources

(tv)  Economic growth.

e foor famr (FocE )

@) ERISEICECA

(i) — Tcudd ST fashEr ey

(i)  SEfie @em
(v) sEw gfs.
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